AL R AL SRR AKEOHTRER — R (54 4EE)
O —REEMREL S (NHEEH) RHEAKLE G

A <oy HAAL %gkﬁg 4A228|58178|6814B|7A120|8816E| 989 |10a8118|11A158|12898|18178| 28146 (3R 14R
B BFZ - - J10:05]10:00[10:00]10:00] 10:00{ 10:05[ 10:05] 10:00] 10:05[ 10:00] 10:05] 10: 00
KR T - 19.2 |19.7 |22.5 |27.2 [30.4 |28.7 |25.2 [22.0 |18.9 |13.3 |12.0 |12.5
PH pH |5.886] 7.6 | 7.6 | 7.7| 7.7 76| 75| 75 75| 76| 74| 75| 7.5
BOD mg/ 0 60 2.5 2.0 1.9 1.9 1.4 ] 2.4 | 2.2 1.6 | 2.3 2.4 1 0.7 0.7
COD mg/0 90 2.5 (2020 22|19 18] 27| 26| 23] 25] 07|09
SS mg/ 0 60 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
R R BE /et | (3,0000] <30 | <30 | <30 | <30 | <30 | <30 [ <30 | <30 | <30 | <30 | <30 | <30
%%ﬁﬁ% mg/ 0 120 5.2 | 4.3 3.9 3.7 5.5 | 4.4 3.6 3.8 3.4 | 3.2 2.6 2.9

ek (AMTY) [ mg/0 | (60) | 5.1 2.9 40| 4.4 4.4 5.3 3.8| 44| 3.3 3.4] 2.6/ 2.9
TrE=THEH | mg/0 %k 2.4 1<0.11<0.11<0.1]1<0.11<0.1]1<0.1}<0.11<0.1]<0.1]¢<0.11¢<0.1
BRIy aROEORSS | mg/0 | 0.03 — — [<0.003] — — — — — [<0.003] — — -
T LB mg/0 1 - — |<o.1| — - — - — |<o.1| — — -
FHEY ALEW | me/0 1 — [ —T<otl =T -17-1T17-1T-"T[<1| =T -1 -
ga e O E DL E M| me/0 | 0.1 — — |<o0.01] — — — — — [<o.01f — — —
L2 2 eS| me/e | 0.5 — — |<0.04| — — — — — |<0.04| — — —
v ZROZ DAY me/0 0.1 — — 1<0.01] — — — — — 1<0.01] — — —
HakeR meg/0 | 0.005 ] — —  [<0.0005] — — — — — 0. 0005] — — —
TIVX VKL S| me/0 nd — — [<0.0005] — — — — — |<0.0005] — — —
PCB mg/0 | 0.003 | — — |<0.0005) — — — — — |<0.0005] — — —
sz | mg/0 30 — — | <0.5| — — — — — | <0.5| — — —
7z ) —VEEAE| me/0 5 — — |<0.02| — — — — — |<0.02| — — —
8o A & mg/0 3 — | = fcootf = =1 11— [ccoot] — | = —
dign A & mg/0 | 2 — 1 —TJoor] =T -1 -1 -1 - [coot] =T -1 —
RS GA & | me/0 | 10 — | = Tf<f =1 -17-1-1- <1 = -1 -
Bt~ noanm|mgo| 10 | — | — <01 — ] =1 =1 = - |01 = = | =
VAN =5 mg/ 0 2 — — [<0.04f — — — — — [<o.04f — — —
SoBROZOLEY | me/0 8 — —lo02]| — — — — — |<0.1| — — —
VUEAR mg/0 | 16 - — (o002 | — — — - — lo.o1 | — - —
VoaERE (A7) | meg/0 | (8) — — Jo.o1 | — — — — — ]0.03 | — — —
FyzmoxzFLo| mg/0 | 0.1 — — [<0.002] — — — — — — — — —
FrIrmuxFLro| mg/d 0.1 — — [<0.0005) — — — — — — — — —
vrmuaAZ | mg/o| 0.2 — — J<o.002] — — — — — — — — —
DA IR SR mg/0 | 0.02 | — — <o 0002] — _ — — — — — — —
7k 1.2—Y7nmuvoxz| mg/0 | 0.04 — —  |<0.0004] — — — — — — — — —
L1=Y7auxzFrr| mg/l 1 — — |<0.002 — — — — — — — — —
va-l2-vree=Frr| mg/l 0.4 — — |<0.004] — — — — — — — — —
LL1-hYZwoo=z| mg/l 3 — — |<0.0005] — — — — — — — — —
LiL2—hyzaexz| mg/0 | 0.06 — — |<0.0006] — — — — — — — — —
L3=v/mu7a| mg/0 | 0.02 — — [<0.0002] — — — — — — — — —
S AT mg/0 | 0.06 — — |<0.006[ — — — — — — — — —
DA a4 meg/0 [ 0.03 — — [<0.003] — — — — — — — — —
FAXHNT | meg/0 | 0.2 — — [<o.02] — — — — — — — — —
_B mg/0 | 0.1 — — |<0.001] — — — — — — — — —
LU ROZEONAY | meg/0 0.1 — — 1<0.01] — — — — — — — — —
W - EREEVE LA | me/0 * — — 3.8 — — — — — — — — —
139 FROZEOAY | mg/0 10 — — 0.7 — — — — — — — — —
LA4—2A%% | mg/0 | 0.5 — — [<0.05] — — — — — — — — —
BAFFT U ?Eé/g 10 — | —foosa| — | = | = -1 -1-1-1-

YRl AE SRR 4 AL S RIRE + (7 B = TR R X 0. 4) 25100mg/0LL T
()N HRMELE
XhU7mraxTF L rOPKEREL, Fak28F9IH15H £ V0. 3mg/0050. lmg/QUZZEH L o7,
¥R U AROEOLEMOBIKIEREL, FRk284E3H 15H X V0. Img/0h>50. 03mg/UIEH & 72 o7z,




ALY 5 JE i R 7K

1) SHELT

LMD O R

K'E

Lot R — a3k

IG5 5

(50 4 HE)

OE=ZY 77 (Lt No.1) -« BTG HAIHLE GRS B 9 m)

@F=2YV 77 (Fif:No.2) --- BN AIG VRIS (RS HZ 7 m)

« bHE No. 1HiS (0 &)

PO g | s

A Bifr || am218|5A178|6A148|7A128|8A168( 9A9H [108218[114158( 12A98| 18178 28148 3898
TR T — )16.2 |15.3 |15.8 [17.5 |18.5 |18.9 |17.4 [16.9 |16.8 |14.5 |16.2 [16.2
BRRER ms/m| — |24 [ 18 |23 |28 |35 |28 |35 |39 [38 | 45 |54 |50
A A A mg/0f — V14 |14 |12 |12 |14 |14 |16 |17 |15 |19 | 19 | 19
TV L AKER mg/0| nd — — |<0.0005] — — — — — — — — —
Kk ER mg/0 [0.0005 | — — |<0.0005) — — — — — — — — —
TR UL mg/0 [0.003] — — |<0.0003] — — — — — — — — —
$h mg/0[0.01] — — |<0.005] — — - — - — — — —
Y[ IZA=A mg/0]0.05] — — [<o.01f — - — — — — — - —
== mg/0|0.01] — — |<0.005] — — — — — — — — —
BT mg/0| nd | — — |<0.1| — — — — — — — — —
PCB meg/0| nd — — [<0.0005] — — — — — — — — —
NV Z7wvomxF L [mg/e|0.01] — — [<0.001| — — — — — — — — —
T hZ77vuxF L |ng/0]0.01] — — |<0.0005] — — — — — — — — —
/A= 0=1 & mg/0]0.02) — — |<o.002] — — — — — — — — —
VUGEAL iR 35 mg/0]0.002] — — |<0.0002] — — — — — — — — —
1.2—YZ7muox X (meg/ofo.00q] — — |<0.0004] — — — — — — — — —
L1—=YZ7unrxF L mg/0] 0.1] — — |<0.002] — — — — — — — — —
l.2—YZvo==F L |mg/e|0.04) — — |<0.004] — — — — — — — — —
LlL1-hYVZmu=&|mg/0| 1.O) — — [<0.0005| — — — — — — — - —
.LL2— R U Zmau=xX> |mg/0|0.006] — — |<0.0006] — — — — — — — — —
1.3—Y7uvu a2 |mg/00.002] — — |<0.0002| — - — - — — — — —
F7 T A mg/0]0.006] — — |<0.0008] — — — — — — — — —
DA% me/00.003] — — |<0.0003] — — — — — — — — —
FARINT mg/0|0.02] — — |<0.002| — - — — — — — - —
_RoBr mg/0]0.01] — — |<0.001| — — — — — — — — —
LY mg/0]0.01) — — [<0.002| — — — — — — — — —
1. 4= A %% mg/0]0.05] — — [<0.005] — — — — — — - - -
saaxg L meg/0]0.002] — — |<0.0002| — — — — — — — — —
BAFR UM ool = —Jos| === -|-|-|-| |-
KU roT Lo OPKIEREIE, TRk28HE9H 15 X V0. 03mg/02>50. 0lmg/QICZEH & e o 72,

X RI T LRPZEO(LEYMOPKREERET, FEk284E3 A 1568 £ V0. 0lmg/0>50. 003mg/ QT & 72 572,




- Tt No.2Hu (H &)
F50% i [NV
HH Bifir || am218|58178|6A14R|78128|8A168| 9A9H 108218 118158(12898|1A178|2A148| 3A9A
JKIE T — | 17.3|17.6 |18.1 [19.8 [22.2 ]20.8 |20.6 |20.0 |19.0 [17.6 |15.8 [14.8
BRRER ms/m| — |40 | 29 |29 |31 |48 |30 |8 |8 |8 |70 |52 |32
WA A me/0] — |19 [ 12 10 [ 11 |30 |12 |76 |74 |73 |60 |35 |18
TV L AKER mg/0| nd — — |<0.0005] — — — — — — — — —
ok ER mg/0 |o.000s | — — [<0.0005] — — — — — — — — —
TR UL mg/0 [0.003] — — |<0.0003] — — — — — — — — —
& meg/0|0.01] — — |<0.005] — — — — — — — — —
Y iEZA= T mg/0|0.05] — — |<o.01| — — — - — - — — —
== mg/0|0.01] — — |<0.005] — — — — — — — — —
BT mg/0| nd — — |<.1| — — — — — — — — —
PCB mg/0| nd — — |<0.0005 — — — — — — — — —
F)Zmmx=FL > [mg/0f0.01] — — |<0.001f — — — — — — — — —
T hrZ77vuaxF L |ng/0]0.01] — — |<0.0005] — — — — — — — — —
/A== 8 NS mg/0[0.02] — — [<0.002| — — — — — — — — —
VUGEAL iR 35 mg/0]0.002] — — |<0.0002] — — — — — — — — —
l.2—YZuaua=x X |mg/0]0.004] — — |<0.0004] — — — — — — — — —
lL1—=YZ7umxxF L |ng/0| 01| — — |<0.002[ — — — — — — — — —
l.2—Y7uuexF L mg/of0 04] — — [<0.004f — — — — — — — — —
LlLl=RYZwem=&2|mg/0] 1.0} — — |<0.0005[ — — — — — — — — —
.LL2—RrUZmau=xX> |mg/0|0.006] — — |<0.0006] — — — — — — — — —
1.3—Y7uvu a2 |mg/0f0.002] — — |<0.0002] — — — — — — — — —
F7 T A mg/0]0.006] — — |<0.0008] — — — — — — — — —
AN mg/0|0.003] — — |<0.0003] — — — — — — — — —
FA R HNT mg/0[0.02] — — |<0.002] — — — — — — — — —
A mg/0[0.01] — — |<o.001] — — — — — — — — —
L mg/0[0.01] — — |<0.002[ — — — — — — — — —
1. 4= FH meg/0[0.05] — — |<0.005| — — — — — — — - —
saopnxTF L meg/0]0.002] — — [<0.0002] — — — — — — — — —
2 A % M N N e e [ U e e B e e e e e

MRV oo Ly OPOKEREIT, FR284E9I A 15H K V0. 03mg/07h>50. 01mg/QICZE T & /e o 77,
X R I LROFOASYOYKIERET, FRk284E3H15H L ¥ 0. 01mg/07>50. 003mg/IZZE T & 70 7=,




